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Questionlll5marksmm.IS IS

a dy definition if a strategy s is strictly dominated
then forany possible opponents choice there is anotherstrategy
s with strictly betterpayoff Hence s cannot be a ER
to any opponents choice because s is better 515

b Suffices toshow that lil no othercandidate's ER to
the current situation is to run for election and Cii it is
not a PR for current candidates todrop out

A E E

i Because A and B are near thecentre any new entrant C
cannot win theelection by being further right or left but they
incur the cost ofrunning Hence it is not a PR for C to run
at an extreme position A and B are not sufficiently extreme
that C can capture themiddle

i'll currently 8 has a 50 chance of winning so has expected

payoff 0 Tv Hence if v 2C 8 s BR is tostay
in the election Likewise for A by symmetry

g g



c Fa The strictness of the NE matters

e s Enthusiasm EF s

greater than ucs.sn So in facts
is not an ESS even though it is a weak NE

515

Questionzl3omarted 30130

F Caleb goes to party
in I

Uni Edgerdashitession

NC Roger doesn't hire

b

q
Dominated No down strict Regardless

of whether Caleb goes Roger's payofffrom
C is strictly greater 8 vs 4,3ns 2

we atrial Iandenierftp.gerf.Y.me
Payoffs 3,1 for Roger Caleb

d
16,01770 Dominated none Vc
Nc 4 s No pure NES



Mixed NES
cfo.IO iY op
Nc 4 s G p

q G od

To find Caleb's mixed NES use Roger's indifference

6g ta g 4qt HI 9 9 113
To find Roger's use Caleb's indifference

44 p pt3Clp f 112
NE Cf El f payoffs 2

d
o
oN

p
Dominated none

C No pure NfsNc 4,40 i 3 Ip
q 1 9

Mixed NES 59 49 24 q 9 73
44 p pt3Ctp f 112

NE Ct Et CE ft payoffs tf 2

e Dominated Clown strict 4 us3 2 us 2

clfoffteneotrpi.i.tn fiJNC 4,4 2,3



Question3 30marks 26 30
a

Let sie I 03 Si I corresponds to vaccination

let me si be the number of people vaccinated
in

6 i s IUics

g ng si O

u sit 6 its MCI si

a Possible deviations it 5 or 6 gets vaccinate 8 8
ii l 4 don't vaccinate

i Us 4 1 UsCol 4 so player 5s PR is no
vaccination

v l O Volo 5 so player 6 BR is also novac
ii U4 1 2 Unico 3 so actually player 4s ERis no vac
Hence s fl l l 1,00 is not an NE



b we have already checked deviations where 4 6 getvaccinated
Now check deviation where I 3 don't vaccinate
Uz l 3 U lo 2

UrCD 4 u co 2 in each case OR is to vaccinate

u 1 5 U Co

since there are no profitable deviations we conclude that
each choice in s Cl 44990 is a PR to the others
so this s is a NE 8 8

c S 1 is weakly dominant 441 5 If allother playerschoose
1 her expected payoff is Ex6 5
Now si I cannotbeweakly dominant strategies forotherplayers
since Ui l 5 for i 2,3 6 while the payoff if all other

players choose 1 remains at 5
what about si 0 Forplayer 6 so o is weakly dominant
because ud1 0 while u co 0 withequality when
Si 0 Hi This is not true for its because they get I

payoff from vaccinating while possibly zero payoff if 5 0 ti

616



d Delete Si O and 56 1 since weakly dominated

Uz 1 4 Uzco E 4 So 52 0 weaklydominated
UsCh I c l k Us Co e 4 g weakly dominated

Delete 52 0 SFI I l S 54 0,03
1 3 244310 E3

4441 2 2E Ug lo E3 ie sa I weakly dominated
dubious 314

e After iterative deletion we have 5 I l s 0 0,03
We can check pure NEs

5 I 1,0 0,90 is not a NE since 5 1 is better

only pure NE is I l 4990311 114Check mixed NES
incompatible for playerT and player 6 to place any weight on
their dominated strats Likewise for 2 and J

Hence situation reduces to
p

D 3,2 2,2 CI p
q clad

by indifference the only mixed NE is coil Cl d
i e 5 I I I 9903


